3.5 

To write the equation on a line you need two things:

1.

2. 

There are three forms of a line:

1. Slope-Intercept Form:

Graph the line y = 
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Graph the line 
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2. Standard Form:

Graph using Intercepts:

6x + 3y = 12
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	1. To find the y-intercept substitute 0 for x; solve for y.

2. To find the x-intercept substitute 0 for y; solve for x.

3. Plot the points and draw the line connecting the two points.


Alternate method: Transform the line into slope-intercept form:


Example: Transform 4x – 2y = 9 into slope-intercept form.

3.  Point-Slope Form:

Write the equation of a line which passes through the point (-1, 4) with a slope of 3
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Write the equation of a line passing through the two points (-2, 3) and (1, -1). 

Examples: Write the equation of a line passing through the two points

1. (2, 3) and (-2, 5)

2.  (4, 5) and (-1, -1)

Equations of Horizontal and Vertical Lines:
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